Biology Mock Exam 2025- Solutions section A and B
Total: 400 marks

Time 3 hours

Section A- Answer 5 out of 7 questions (Q1-7)- 100
marks

Section (B)- Answer 2 out of 3 questions (Q8-10)- 60
marks

Section (C)- Answer 4 out of 7 questions (Q11-17)- 240
marks
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Section A- Answer 5 questions
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a) Identify the two constituents in a triglyceride subunit. 2
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b) Explain how the structure of a lipid subunit maybe altered.
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c)  Vitami

NS can be divided into two categories; name these categories.
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d) Explain the term “trace element”. b "

€) Name a disorder associated

with a named mineral found in animal.
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f) State two roles of water in a llving organism.
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oM your knowledge of ecology, explain the following terms:

(@) Ecosystem
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(b) Habitat J
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(€) Niche
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(d) Edaphic factor
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(g) Conservation
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Q3 Q.D

i human body.
Blood is a flujg that transports substances to and from cells in the

Cell A

Liquid C

(a) Identify cellA, cell B

and liquid Cin the above image of blood cells.
Cell A: \MW E
Cell g: KQA

Liquid C: ﬂm mc\’

Explain why blood s considered to be a3 tissue.

(b)

()  Nametwo substances, ot
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(e) Many medlcal conditions adversely affect the blood. Name one blood disorder.
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Q4.

Aerc?bic respiration is describ
cell in which aerobic respirat

(a)

(b)

(c)

(d)

(e)

(f)

(8)

ed as a two-stage process. The diagram represents a muscle
ion is taking place.

Nucleus

What name is given to stage 1 of respiration?
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Where in the cell does stage 1 occur?
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Name the cell organelles, labelled A in the diagram above, in which stage 2 occurs.

Mubochondgac!

Explain why muscle cells contain large numbers of the cell organelle named at part (c)

above.
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ATP is an energy carrier involved in respiration. 1—0 O
What does ATP stand for?
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NAD is another energy carrier involved in respiration.
What is its function?
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Sometimes muscle cells respire anaerobically.
Name the by-product of anaerobic respiration in a muscle cell.

lache  Wod




Qs. /kO

Explain the term “cell continuity”
adds agr ody exslug ol
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During which Phase of the cell cycle are organelles such as the mitochondria replicated.
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State the type of cell division responsible for each of the following;
1.

One cell divided to produce four new cells
Mesgsis 5
2. Thenew cellis identical to the parent cell
Mabos i

3. mpens in the meristem of the root tip

Milosis

4. Production of gametes

Meaos s

What name is given to the group of disorders that results from uncontrolled rate of mitosis

Name the membrane formed in animal cells at the end of mitosis
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(b)
(c)
(d)
(e)
(f)
(e)

Cellulose and chitin are two structural polysaccharides.
Yeast is an example of a multicellular organism.
Cytosine is an example of a purine base.

Viruses are obligate parasites.

Rhizoids in Rhizopus secrete enzymes for extracellular digestion.

Red blood cells contain a nucleus at maturity.

Osmosis involves the mavement of water only.
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Q7.

Belowis a diagram of the skin

(a) Indicate on the diagram with “X” the tissue that is composed
(b) Name the parts of the skin labelled A -C

of lipids

fRulot MMSL(.L

" Swedk olund

© ‘Zplchmﬂ

(c) List two structure in the skin with a role in temperature regulation
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(d) The gy;
s :
Kin has a ro|e In homeostasis. Define the term

“homeostasis”

Study the grap,

; Comparing the body temperature of amouse and a lizard in res onse t
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(e) What conclusion can be drawn about the mouse based on the date given in the graph.
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4 Section (B)- Answer two questions
Q /%O
(a)

(i) What is the basic unit of life?

L

(ii) Identify the characteristic of life essential for the survival of the species
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(b)

The following tables compare frequency data for the plants, grass and clover,ina
habitat when a herbivore (plant-eater) was present and when it was absent.

Herbivore absent

(i)  Describe how the frequency data would have been obtained.
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was present.

(i) Calculate the percentage frequency for both grass and clover when the herbivore

Grass: Clover:
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(iii) Suggest one possible conclusion that can be made from the data.
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(iii) .,
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Use thej ificati . . c
) he identification key to identify the tree from which plant was obtained.

Dichotomous Key for Leaves
1. Compound or simple leat
1a) Compound leal (leaf divided into leaflets)

. go to step 2
1b) Simple leat (leaf not divided into leaflets)

go 10 step 4

2. Arrangement of leaflets

2a) Paimate arrangement of leaflets (leaflets
all attached at one central point)

A ius (buckeye)
2b) Pinnate arrangement of leaflets
{leaflets attached at several points)

go 1o step 3

3. Leaflet shape
3a) Leallets taper to pointed tips

Carya (pecan)
3b) Oval leaflets with rounded tips

4. Arrangement of leaf veins
4a) Veins branch out from one central point
go to step 5
4b) Veins branch off main vein in the middle
It I8E] .o go 1o step 6

5a) Leaf is heart-shaped........ Cercis (redbud)
5b) Leat is star-shaped
......................... Liquidambar (sweet gum)
6. Appearance of leaf edge
6a) Leat has toothed (jagged) edge
Betula (birch)
6b) Leat has untoothed (smooth) edge
................................. Magnolia (magnolia)
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(c)

ANumber of ¢

R 00d samples w
Ndicateg a 7

ere tested in the laboratory and the following results obtained. The

POsitive resuylt.
Iodine Biuret Brown Paper
Food A x x v
Food B x v x
Food C v x x

(i) Identify each of the food types A, B and C.
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Describe a positive result for food A in the presence of brown paper
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What is the purpose of the coarse focus wheel on a light microscope
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Qo. %b
(a)

(i) Explai “ .
) Explain the term selectively permeable” with respect to membranes.
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(ii) Identify a material you usedin the laboratory to represent a selectively permeable
membrane.
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(b)

Inrelation to the experiment to investigate the effect of temperature on enzyme activity
answer the following questions;

(i) Name the enzyme used and the source of the named enzyme.

mL (‘Wr((t :

3

Calalaﬁta/y\__o\aiuj

mag hove

(i) How was the rate of enzyme activity measured? /ﬁ.\L M ot
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(iii) Name a factor that was kept constant during the experiment.

pl+

(iv) How was the named factor kept constant?
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(c)

i by fermentation.
Answer the following questions in relation to the production of ethanol Yy
(i)

i i i riment.
Identify one safety precaution you took while conducting this expe

(ii) How was it identified that fermentation had ceased?
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(iii) Identify the

reage_:c: §sed to confirm the presence of ethanol and the corresponding
positive result.
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(a)
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(i)
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the parts of a sheep’s or an ox’s heart.
Explain how you distinguished the front of the heart from the back.

nswer the following questions in relation to the dissection, display and identification
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(i) Name one piece of equipment you used to make an incision.

Sailpel -

(iii) During your dlssecnon you located the tricuspid valve.

State the exact location of this valve.
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yudnde -

(iv

) What did you do to expose the semi-lunar valve?
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(v)

Describe one difference you observed between the right snde of the heart an
the left side after your dissection.
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were set up as
(b)Inan investigation on the growth of leaf veast, three starch agar plates P
shown in the table ang stored in an incubator at 30°C for 5 days.

Plate Set Up Result after 7 days
A Unopened starch agar plate 0 colonl.es
B Leaf from quiet rural setting 10 coloryles
c Leaf from busy rural setting 4 colonies

(i)

Identify a suitable tree that the leaf could be taken from to conduct this experiment.
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(i) how was the leaf Named in (i) identified?
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trolin an experiment?
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(iii) Plate A is acting as a control, What is the purpose of a con

(iv) Why was the incubator

set at the stated temperature?

(v) what was the colour of the colonies produced? '
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Section (C)- Answer 4 questions (each full question carries a total of 60
marks)

Q11. (60 marks)
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Q12. (60 marks)
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Q13 (60 marks)
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Q14 (60 marks)
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Q15 (60 marks)
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Q16. (60 marks; answer two parts of a, (b), (c), (d) .
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